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１ 次の計算をしなさい。 

①  yx 24           ② ab
10
9

3
5

        ③  mm 43 2   

 

 

 

 

④  24
8
3 ab           ⑤ (−18𝑎𝑏) ÷ 9𝑎      ⑥ 40𝑥2 ÷ (−2𝑥) 

 

 

 

 

⑦    xyxy 312 2        ⑧ bba
5
416 2         ⑨ 2223
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4 yxyx 






  

 

 

 

 

 

２ 次の計算をしなさい。 

① 4𝑥𝑦 × 6𝑦 ÷ 2𝑥𝑦       ②    xxxy 2812 2      ③      22 623 aaa   

 

 

 

 

 

３ 3x , 4y のとき、次の式の値を求めなさい。 

① 2(𝑥 + 4𝑦) + 3(𝑥 − 2𝑦)          ② 14𝑥2𝑦 ÷ (−7𝑥) 
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
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式の計算（単項式の乗法・除法③） 
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÷ [ 56 a
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る JC

= 12 Y = 一 氏
= 3 Y
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"

= 一CY2 24
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= 126± 20 = 226
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